P16

(1)

5> ESITWOA
(GE) ¥ = H D = pottery, earthenware, porcelain, china : FE= = ceramic art

*

The essay is written in the polite-style

L&o&E

B 28 = tableware /

@ <possession particle> /

JNZ L7 « =variety, diversity, multiplicity; assortment; kind, sort /

Z % =for sure (emphasize preceding word) /

HA® =6 D = Japanese potteries (earthenwares, porcelains, chinas) /

dD <possession particle> /
EL L&KL

158 = characteristic /
D/

[y

—D =o0ne/

Z = <plain-style> of [na-adjective / noun] T9 =is, are, am, etc /
& <quotation particle> /

BH

BWZXT =1think that ~ //

| think that the varieties of tablewares is one of characteristics of Japanese potteries (and | think
that this is the most outstanding characteristic).

<UL, =And,/
I A A

HAAD = Japanese /
P EH D = pottery, earthenware, porcelain, china /

fely

I X¥9 % =towards N2 No.9/

BH

£ U = thought, mind, heart, feelings, emotion, sentiment, love, affection, desire, wish, hope,
expectation, imagination, experience /

&M =.andsoon, ..., etc, such as ...., like ...., as an example of ...., like for example, etc N2
No.114 /

HWNE » <
B%& = attachment, love, covetous affection /

|& <topic particle> /
L&o&E
B DH 1359, =notonly tablewares, N2 No.150

LB E 5 &

EFED 2= = abundance (wealth, plenty, profusion) of a kind (sort, type, variety) /
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i/

$H5HNT L3 = <plain-style-nonpast-affirmative> of & 511 T L X 9 = be appearing now
& <quotation particle> /

= 2 CH L) = <plain-style-nonpast-affirmative> of § > TH L\L\TT = may say, it is OK to

say /
TU& D =1.Probably ....., 2..... , right?

Probably we may say that the thought and attachment towards potteries of Japanese people is
appearing in not only tablewares but also the abundance of a kind. 8-

Fie 5 1% = we /

é%@ T UM = every time when (X) have a meal, whenever (X) have a meal N2 No.28 /
BE % h = of course /

HIE% = cooking (cookery, cuisine) also /

ﬁ’\T L& 9 = be eating ... now /

H. =but, /

%bl]%f IC = without knowing ~, unconsciously /

%E = by means of one’s eyes, with one’s eyes /

B25H =tablewares also /
fe
BT W% DTY, =be eating .... now, | strongly want to say so.

Whenever we eat, of course we eat food, but we also eat tablewares with our eye’s
unconsciously.

EH 5 =that’s why, therefore, so

E2EOH A LA

HER - BIODY RV & WLVDS D = the fact that (X) have no interest and concern /
Laf <topic particle> /

T/EE'?& 2V 78 D TY, =(X) is just careless (inattentive), | strongly want to say so.

Therefore, the fact that you have no interest and concert means that you are just inattentive.

9 TIC = already

LU
—Fi’m groundwork, foundation, inclination, aptitude, elementary knowledge of, grounding in,

prearrangement, spadework, signs, symptoms, first coat of plastering, soy /
|& <topic particle> /
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TET W5 DTY =1.be abletodo ~ 2. be ready, be completed, be finished /
M5, =because ~/
&% & = another /

W oo [F

—3 = one step /
S Z
B HIADIE = if (X) step into ~

*conditional-form of E’kJ}Lé’#i"@é’ g1 = step into; break into, raid /

P E$H D = pottery, earthenware, porcelain, china /

[C/

EEOH b\hb\h .

BAEK - BF/0y = interest and concern /

¥ <subject particle> /

7'y & = firmly, fast, much, more /

S S

R & B = <plain-style-nonpast-affirmative> of R & D £ g1 =deepen, heighten, intensify,

become deeper /
(39 72 D 1Z = <plain-style> of (Y 7% DTY =1am sure that ~ /

t <quotation particle> /
/L,\L\ig“ = | think that ~ //

Because the groundwork is already ready, if you step into another step, | think that our interests
and concerns towards potteries suppose to deepen more.

IO .
PEHD D 5, =the world of potteries

WHhRH L & TA

EREEIC & % = (published) by lwanami Shoten

[ 146
The sentence is written in the plain-style.

OoULw» DA

»
E£ED EZZ [T B> D =the one which matches (fits) the author’s thought (thinking, ideas,

intention) /

Enh = <plain-style> £NTI H = which is it? //

Which one matches the author’s thought?

CD IC = whenever (X) eat, every time when (X) eat, N2 No.28 /
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Lo &E Ay

B25% Bk 3 Z & T =by means of gazing at tablewares

BksH &3 g2 = view, gaze at, see; observe; regard /

I%’”mﬁ%\%/\ = towards ceramic art /

D <possession particle> /

%'Fgg = attachment, love, covetous affection /

Y <subject particle>

Eéi % = <plain-style-nonpast-affirmative> of 528 D &9~ g1 = get strong, gain strength,

increase in power or might

The attachment towards ceramic art gets strong by gazing at tablewares whenever you eat.

Bb oM L&o&E
ED B2 = tablewares which you use everyday *H% = regularity, usualness, everyday

occurrence /
IC <recipient particle> /

/BE@% = caution, being careful, attention (heed), warning, advice /
%Z <direct-object particle> /

F%H% Z & T = by means of directing

r%tji@' g2 = turn towards; point, direct /

E’%%%’\ = towards ceramic art /

@D <possession particle> /

M UA

B0y = interest, concern /

¥ <subject particle>
feh
=& % = <plain-style-nonpast-affirmative> of /& D £ 9 g1 =rise, ascend, move upward;

swell; be promoted

The concern (interest) towards ceramic art rises by directing your attention to the tablewares
which you use everyday.

3
Lo & <X}
arx BLT = through tablewares N2 No.73/
ESHFWOA 3;76’%
e =mlc Ek% %’D Z & T =by having an interest in ceramic art /
7‘ O ’D‘tt/uLi/u

'TI 2%\ = towards the whole art /
@D <possession particle> /
ﬁ\/ub\/u .
B8.0y = interest, concern /

¥ <subject particle>
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feh

—_

h
=% % = <plain-style-nonpast-affirmative> of % D £ 9 g1 =rise, ascend, move upward;
swell; be promoted

The concern (interest) towards the whole art rises by having an interest in ceramic art thought
tablewares.

nTWn

ZFEE = household, home, family

IC <recipient particle>

WB WA §%§ = various tablewares

%Z <direct-object particle>

E&X D Jm\h%v Z & T =by means of to taking in (harvesting, adopting)

E’ﬁa%%’\ = towards ceramic art /

®D <possession particle>/

%\35% = attachment, love, covetous affection /

¥ <subject particle>

Eéi % = <plain-style-nonpast-affirmative> of 528 D &9 g1 = get strong, gain strength,

increase in power or might

The attachment towards ceramic art gets strong by taking various tablewares in your home.

P17

(2)

k&

KA =adult/

\& <topic particle> /
F 4t = child /

\C <recipient particle> /
rﬁ}ﬁ‘%’) =& jl%%@ [ CED, =Telling a lie is a beginning of becoming a thief (burglar, robber,
theft)’ /
& LT =make ~and ...., regard ~ as .... and
IEIET %% Z & =to be honest/

%Z <direct-object particle> /

5L

E U X9 =compel, force, coerce /
H. =but,/

UelLe

552 = weak person, the weak /
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Li <top|c particle> /

E LW I])'E = the line which doesn’t look like a like /

%Z <direct-object particle> /

DWLWT TH =evenif (X) tell a lie

>%

IEZx DEXJ gl =tellalie/

I I . . . . .
B 5 O BEE; = one’s own dignity (majesty, sanctity, respected position, nobility)
% <direct-object particle>

Fb
F5 5 & UE 9 =be about to protect volitionally //

Adults compel children to be honest. They say, ‘Telling a lie is the beginning of becoming a
thief.” But, even if the weak tell a lie which doesn’t seem to be a lie, they are going to protect
their own dignities.

f@?ﬁ%ﬁé IC = logically /

Z_.Ii: L ULy Z & = correct thing /

%Z <direct-object particle> /

fﬁlﬁ%t Dc‘k¥/3i‘ & I nld. = Suppose that we call ~ reason (sense, a logical mind),
A%ZB& MUO'X9 =cal AB ~ &9 1ld =N2 No.142

BHRIC 2 & TES D =the fact that (X) can be in the rational state /

|& <topic particle> /

L5000

BRETC S TY, =8EF TT N5, =because (X) is a strong person //

Suppose that we call the thing which is correct logically a logical mind, being able to be in the

rational state is because you are a strong person. 8-

ER eI

387 = strong person
|& <topic particle> /
Zh K Z [T = hence, thence, accordingly, then, and so .... /

h & Wwts

EHRIIC = rationally

LelL» @hi . ) ) .

55%& D @5 = mistake (fault, error, indiscretion) of a weak person /

%Z <direct-object particle> /

hca

HH LD & UFT =Dbe about to blame (condemn, criticize) volitionally /
. = but /

Le<<L»

55&E D _Liﬁ M5 WZIE, =from the viewpoint of the weak, N2 No.81 /
Z1 =that/
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|& <topic particle>/

Rh M Z

D = ﬂ)’li% #1272\ = it doesn’t have any meaning /
& 75\ L\T@“o = often ~ //

Therefore a strong person is going to blame a mistake of a weak person rationally, but from the
viewpoint of a weak person, it often doesn’t have any meaning.

Lr<U»

I
BE O T3 HFR ElE=5EF D I3 &£LS D & =the thing called ‘the apology which a

weak person makes’ + & <topic particle> /
notwn

%8\ = inferiority, disadvantage, inferior position, unfavorable situation /

%Z <direct-object particle> /
WwWsE LTE

—H#EI’J C = temporarily /

AL
Y2 %‘m‘é © 1g:x_t = the procedure ((legal process, formalities) or the ceremony (rite,
ritual) which (X) dlssolve (dlsperse break apart)

Oﬂ'\z\ WwWs TE ML

> £8E B BYT2 FeE v {az‘t = the procedure or the ceremony for dissolving

one’s inferiority (disadvantage) temporarily
I TRV DTY, =just ~, itis not more than that +, | really want to say N2 No.102 //

The apology which a weak person makes is just the procedure or the ceremony for dissolving
his inferiority (disadvantage) temporarily. &

S LELYWS U
= —
|

Bk & YL D HBLIZ = between a human being and a money

3

BlE WD S FENfz D H = When was the spirit (mind, hear) born?
B (TWULA)

BRATFWLwA LS

XE2EFM (LB = published by Bungei Shunjuu

The sentence is written in the plain-style.

Vo ULw

%% = author, writer /

|& <topic particle> /

Ler<Le

557 = weak person, the weak /

% <direct-object particle> /
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ED K5 I =how, in what way /

é: '5 AT W3 = <plain-style-nonpast-affirmative> of & 5 2T L X9 = be catching ....now
*?Ez_i’é’ g2 = catch, perceive, catch sight of, grasp

*?ﬁ 5 Z ¥ 9 g2 = seize, grasp, capture, arrest /

H\ <question particle> //

How does this writer perceive a weak person?

<L»
% weak person, the weak /

- —
LNC

at p|c particle> /
IE T&Sé Z & T = by means of being honest /
ZhTh

HIH
BHS @ B = one’s own dignity /
%Z <direct-object particle> /

T

b
F55 & 9%, =be about to protect volitionally //

A weak person is going to his own dignity by being honest.

2

Ler<Le
55% = weak person, the weak /

(& <topic particle> /
D Wn

Btz ﬁo T = (X) have reason (a logical mind, good sense) and ......, by having reason (a
logical mlnd good sense) /
‘”g’; D ﬁfs one’s own mistake (error, fault) /
%Z <direct-object particle> /

HbU&S & 9%, =Dbe about to apologize volitionally /

A weak person is going to apologize about his own mistake by having a logical mind.

3

Lp<Lw
55#& = weak person, the weak /

|& <topic particle> /
ﬁmah ek

C $8> T = (X) depend (rely, count) on a sound argument (just argument) and ...... , by
dependlng (relying, counting) on a sound argument (just argument) /
*%é N £9 g1 =rely, depend, trust in, count on
;ﬁg% = inferiority, disadvantage /
f:\ quirect-object particle> /

fBHUL &S & 9%, =be about to dissolve volitionally //
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A weak person is going to dissolve his inferiority by relying on a sound argument.

4
U%E% = weak person, the weak /

Id <topic particle> /

E%ﬁ%@'é Z & T = by means of apologizing /
35775 = for one's self, personally /

%Z <direct-object particle> /

ES3)
F55 & 9%, =be about to protect volitionally //

A weak person is going to protect himself by apologizing.

The sentence is written in the plain-style.

c
c

wh =
8 &H = puberty, adolescence, pubescence, youth, boyhood, girlhood /
<

direct-object particle> /

“*F—:.\&M ¢

iﬁ_ = <plain-style-past-affirmative> of Z_i’é' g2 (go out to meet, welcome) /
AOD L?T)\ = recent children /

— the recent children who who reached puberty (arrived at the age of puberty) /
hHY <subject particle> /

AMLXRIC 35 LY O = the fact that (X) is weak at stress /

l&. <topic particle>/

Z 1 T =till then, until that time /

D <possession particle> /

%;\%i@%é = the process of development (maturation, growth)

“C <particle which shows the place where the action takes place.>/

ff‘ﬂgfé I[C = moderately, reasonably, rationally /

A KL R =stress

IC <recipient particle>

5 én% <plain-style-nonpast-affirmative> of & 5 11X 9 g2 = be exposed

verb of Hﬁ U X9 g1 =expose/

g‘;%% = experience /

— the experience which (X) is exposed to stress moderately /

%Z <direct-object particle> /
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UwSRh
71 = enough, sufficiently, quite, fairly, fully, in full, plenty /

ANT Moo T & =the fact that (X) has not passed (elapsed)

*NT EZX UTc = (X) carried on passing, (X) have passed *?ﬁgéi’é” g2 = pass, elapse /
75\ <subject particle> /

/7|<< deeply, profoundly /

HAFW

B LT W3, = <plain-style-nonpast-affirmative> of B LT L\E 9 = relate, make a
connection between; have a connection with, connect, join, link //

The fact that the recent children who reached puberty are weak at stress is deeply related to the
fact that they haven’t passed through the enough experiences which they are exposed to stress
moderately in the process of growth which they underwent until that time.

LM H = moreover, furthermore, nevertheless, and yet /

Z1 =that/

|& <topic particle> /

?)%L 5 =they/

HY <subject particle> /

ﬁ%\ﬁﬁ = socialization /

%z <direct-object particle> /

Elf%éftui = enough, sufficiently, quite, fairly, fully, in full, plenty /
i%b“"( ZIah o fc T & =the fact that (X) have not carried on accomplishing
*EKIFT 22X ATU = (X) have not carried on accomplishing
*E 7 &9 = accomplish, achieve, carry out, complete, finish /

(0¥
& F UL\, = <plain-style-nonpast-affirmative> of & F UL\ TJ, =be equalto ~ //

Moreover, that is equal to the fact that they have not carrie on accomplishing socialization
sufficiently.

EWSDH., = =The reason why | say so is because ~ /
2L FARA

10X BI3¥ ¥ T D ?1 it = the children who are in their early teens /
|& <topic particle> /

FNETD &f’ﬁ?%lu = sphere of daily existence until that time /

% <direct-object particle> /

I':E’C =gooutand .., leave and ..../

03
£D AW —wider/

UpDWTERAH L

=R XHIR D 72H T = inside the social context /
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L\7b\ I LT =how, in what way /

B3 = self, oneself /

% <direct-object particle> /

;%Lfﬁé'tté = <plain-style-nonpast-affirmative> of 23 =& £ 9 = make ~ realize
*passive-verb of 237 U £ 9 g3 = realize, make real, materialize, actualize /

M <question particle> /

& W5 = (X) called (Y), (X) named (Y), (X) which is (Y) /

E%TELE = subject, theme, task, assignment, homework /

— the task which they leave the sphere of daily existence which they underwent so far and how
they make theirselves realize in the wider social context /

E&Y N fﬁh@ 72 Hy T = while (X) tackle (wrestle with, engage in a bout, come to grips with, struggle)
*an D fgﬂo"%i@' g1 = tackle, wrestle with, engage in a bout, come to grips with, struggle /
Hotb Eé < =the most strongly /

ABMLR =stress/

% <direct-object particle> /

E;Eb > = <plain-style-nonpast-affirmative> of k1o L\ &K 9 g1 = taste, savor, relish /

M5 = because ~ /

IC [ED 2 572\ = <plain-style-nonpast-affirmative> of (C (Eh & D F & A = be no other than
~, be nothing less than ~, amount to ~, entirely ~ N2 No.170 //

The reason why | say so is nothing less than the fact that because the children who are in their

early teens taste stress the most strongly while they straggle with the task which they leave the

sphere of daily existence which they underwent so far and how they make themselves realize in
the wider social context.

_.E D R B
Eﬂ?%
E58PD &<
RXEN) = the father’s power (ability)
Ep>583I535ALAL
NeEErtic &3 = published by chuu ou kou ron shin sha

% = author, writer /
|& <topic partlcle>/

LUwh & ZED
BEPZ fl]z_é Hu D F [ & 7T =for (from the viewpoint of) the child who hasn’t reached
puberty yet /

FWiHA

E A T3 #2E& = what kind of experience /
Y <subject particle> /
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02&5

WMETZ = <plain-style-nonpast-affirmative> of A E T = be necessary /

& <quotation particle> /

MAD

% Z T W3 = <plain-style-nonpast-affirmative> of & X T L\E 9 = be thinking over now, be
considering now

M <question particle> //

According the author, what kind of experience is necessary for the child who hasn’t reached
puberty?

W zE Lehn

KEE D 9 D #£= T =in the society which is outside of a home (family, household) /
B& L h
:

ZW

rl8 = many social problems /

& <
BY D #HE = <plain-style-nonpast-affirmative> of BXD #8+£ 9" g1 = g1 = tackle, wrestle with,

engage in a bout, come to grips with, struggle /
FWiFh

#2B&% = experience //

the experience which they tackle many social problems in the society which is outside of a
home

3 f=A0Vie) =S
D 45E @ BT = in a daily life /
ULULA

BHE& =oneself /
& <accompaniment particle> /

5 R
7]

N
>

< Mo ™
J<

O »
MZE S = <plain-style-nonpast-affirmative> of [ E &L K 9 g1 = be opposite, face each

other /
&2 & =(X) &3 & (Y) = (Y) which look like (X)

FWiFA .
#ZE% = experience //

the experience which is similar to the one which you face yourself in your daily life 8-

3

(=) Lphiy ah

[EWN #t & @ AT = inside the wide society /
L&A

B4 = oneself

%Z <direct-object particle> /

Ey

B2 D & D TED = <plain-style-nonpast-affirmative> of #8225 & H TEZEJ =be able

to forge (drill, temper, train, discipline)
*#X X F 9 g2 = forge, drill, temper, train, discipline /

&2 & =(X) &3 7% (Y) = (Y) which look like (X)
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FWith .
#RE% = experience //

the experience which is similar to the one which you can train yourself in the wide society

(=4 Uj“:)‘l'i‘b\/g\? Bh . . . . .
# 45 @ T =in adaily life, in a everyday life /
Z U A Eo>fe2fEAh W Pr<bh

A O FEERREIC ?f:z\ U 7 %2l = the role (part, assigning (allotment of) parts, duties) which
complies with the individual developmental stage

*gﬁaﬁj\ U ¥ 9 sg2 =respond, satisfy, accept, comply with, apply for /

fa':\ <direct-object particle> /

Lf§5 = <plain-style-nonpast-affirmative> of #8\L\& 9™ g1 = carry on shoulder, bear (burden),
shoulder (gun)

FWiFA .
1RE% = experience //

the experience which you play the role which complies with (responds to) the individual
developmental stage in your daily life

13/13



